

STUUK PAKKING LISI / VOORRAADUITHAALLES

Faktureer / Bill-to:	Versend na / Ship-to:	Warsnay Investments Pty Ltd t/a	Document No / Document Nr: 80350474
50001	Liquor Runner Durban	Posbus / P.O. Box 528	Aankoopbest / Purchase Ord: 4500556387
CORNER OF M4 AND BASIL FEBRUARY		Suider Paarl	Klient Best No / Cust Ord Nr:
4060 CLAIRWOOD		7624	KWV Best No / Order Nr:
ROA ESTABLISHED 1918		Tel: (021)8073900	Dok Datum / Doc Date: 21.02.2025
AFSKRIF / COPY		Faks/Fax: (021)8073000	Rekening No / Account No.: 50001
		Cpy Reg. No. 2012/018792/07	Fairtrade: FLO-ID 28503
		Vat No.: 4110261833	Bladsy / Page: 1
		Registered with the National Liquor Authority as a manufacturer and distributor of liquor - Reg. No. RG0000668	

Versend vanaf (Depart) / Despatched from (Plant): KWV Local distribution
Bestemming / Destination: Liquor Runner Durban
Vragmotor / Truck:
Registrasie No / Registration Nr:

Item	Material Description	Hoofdeenhed	Quantiteit	Bruto Gewig	Netto Gewig	Volume m ³	Stortmaat Liter	Liter/AA
				Gross Weight	Net Weight	Volume m ³	Bulk Litres	Litre/AA
000001	HOECH HOWLER BOOST 6X750(S) LOG		42.000 BOX	356.244 KG	204.498 KG	0.546	189.000	37.800
	Storage Location							
	Alcohol % Obscuration							

CONTAINER INFORMATION:
 Packing Carrier Seal No : 3180544-0550 3180551-0560 3180561-0570
 Packing Saller Seal No : 3180571-0580 3180581-0590 3180591-0600
 Container Number : JBK 079 FS JBS 439 FS JBS 447 FS
 Additional Information : LR TRANSPORT

25/02/2025 LANCE

Clairwood Logistics Park
 Basil February Road
 Mobei East
 4060

Clairwood Logistics Park
 Basil February Road
 Mobei East
 4060



Selwyn@lrsa.co.za

Liquor-Runner Clairwoo, Clairwood

Http://www.lrsa.co.za

GRV for KWV (PTY) LTD - LRSA NR: 3225 (GRV)

Receiver: Morganathan
 Checker: Morganathan
 Warehouse
 Sender Ref 1:
 Receive Date: 2025-02-28
 Warehouse Recv:
 Sender Ref 2:

SKU Code	Stock Description	Bin	Batch Number	QTY (Cases)	QTY (Units)
Stock Received					
700024643	CATHEDRAL CHARDONAY 2023 (6 X 750ML)	L2333		4	24
700026549	ANNABELLE CUVEE BLANCHE NON-ALCOHOL (6 X	L2428		22	132
700025733	KWV 3YR BRANDY (12 X 750ML)	L24330		220	2640
700026438	WILD AFRICA CREAM LIQUEUR (12 X 750ML)	L25028		55	660
700025944	BUG BLUE SHOOTER 10 X 15 X 20ML	L25044		126	1260
700025443	ANNABELLE CUVE ROSE CAN (24 X 250ML)	21/10/25		130	3120
700026643	ROOD (6 X 750ML)	L243252		112	672
700026548	ANNABELLE CUVEE ROSE (6 X 750ML)	L24276		110	660
700026112	KWV BRANDY AND COLA CAN (24 X 440ML)	10/10/25		90	2160
700026449	PADDY IRISH WHISKEY (12 X 750ML)	L4241		56	672
700024830	KWV BRANDY and COLA (24 X 275ML)	L24315		78	1872
700025789	FRUIT LAGOON STRAWBERRY (6 X 750ML)	L25034		48	288
700024900	KWV GLAS CAB SAUV SHIRAZ	L24281		8	64
700026557	HOOCH HOWLER BLUEBERRY (6 X 750ML)	L24261		42	252
700026640	HOOCH HOWLER BLACKCURRANT (6 X 750ML)	L24269		42	252
700025875	BESP DRY RED	L250		20	80
700025881	PEARLY BAY SMOOTH RED 4 X 3L	L24281		15	60
700025880	PEARLY BAY DRY WHITE	L24351		15	60
700026384	FRUIT LAGOON MOJITO (6 X 750ML) (LOLLIE)	L24221		24	144
700025792	FRUIT LAGOON PINA COLADA 6 X 750ML	L2422		24	144
700025992	CARVO CARAMEL VODKA (6 X 750ML)	L24336		5	30
700025796	FRUIT LAGOON MANGO DAIQUIRI (6 X 750ML)	L2433		10	60
700025546	JACKSON BROWN LIQUEUR 6 X 750ML	L25034		21	126
700026541	HOOCH HOWLER BOOST GUARANA RASBERRY (6	L24301		42	252
700022440	CATHEDRAL SHIRAZ 2020	L2234		2	12

Checked By: _____

Receiver: _____

Transport Company: _____

Checker: _____

Driver Signature: _____

28/02/2025 01:05:53 PM

Clairwood Logistics Park
 Basil February Road
 Mobei East
 4060

Clairwood Logistics Park
 Basil February Road
 Mobei East
 4060



Selwyn@lrsa.co.za

Liquor Runner Clairwoo Clairwood

Http://www.lrsa.co.za

GRV for KWV (PTY) LTD - LRSA NR: 3225 (GRV)

Receiver: Morganathan

Checker: Morganathan

Warehouse

Sender Ref 1:

Receive Date: 2025-02-28

Warehouse Recv:

Sender Ref 2:

SKU Code	Stock Description	Bin	Batch Number	QTY (Cases)	QTY (Units)
700026502	KWV CLASSIC CHENIN BLANC (6 X 750ML)	L24287		56	336
700026555	LABORIE MER/CAB 2023 (6 X 750ML)	L24296		28	168
700025599	LABORIE SAUVIGNON BLANC 2024 SLOC	L24329		28	168
700026174	KWV CLASS SHIRAZ (6 X 750)	L24346		28	168
700026297	KWV 5YR BRANDY (12 X 200ML)	L24346		56	672
700026457	WILD AFRICA CAFE LATITE (12 X 750ML)	L25023		28	336
700025827	SOUR MONKEY BUBBLEGUM (750 6SHOTGLASS)	L24022		21	126
700022790	KWV SPARK DEMI SEC (6 X 750ML) N SLOC	L24318		22	132
700025464	JACKSON BROWN SPICED RUM	L25034		21	126
700024318	CATH SAUV BLANC 2023 (6 X 750ML)	L23319		9	54
700024719	CATHEDRAL CELLARS CAB SAUV (6 X 750ML)	L2422		4	24
700024647	LABORIE SHIRAZ (6 X 750ML)	L2434		10	60
700026567	LABORIE CABERNET SAUVIGNON (6 X 750ML)	L2429		3	18
700026508	LABORIE ROSE (6 X 750ML)	L2131		10	60
700025664	KWV CLAS ROSE 2024 (6 X 750ML)	L2424		5	30
700025392	KWV ROSE (6 X 1.5L)	L2430		14	84
700026230	CIAO PINA COLADA (6 X 2L)	L25022		28	168
700026550	ANNABELLE CUVEE BLANCHE (6 X 750ML)	L25255		110	660
700024725	CATHEDRAL CELLAR PINOTAGE (6 X 750ML)	L23327		2	12
700025631	KWV CLASSIC MERLOT	L25023		84	504
700025630	KWV CLASSIS PINOTAGE (6 X 750ML)	L2433		28	168
700026173	KWV CLAS CABS (6 X 750ML)	L2432		28	168

1,944.00 19,938.00

Total QTY Received 1,944.00 19,938.00

Checked By: _____

Receiver: _____

Transport Company: _____

Checker: _____

Driver Signature: _____

28/02/2025 01:05:53 PM

2/2

Goods receipt date : 28.02.2025
Current date : 28.02.2025

Plant : LR4
Description : Liquor Runner Durban

Stor. loc. LR

Iss. Plant : LR13
Name : KWV Local distribution
PO : 4500558387
Pur. group : 112 KWV SA Disribution Telephone : 021-807 3301

0001 700026541

HOOCH HOWLER BOOST 6X750(S) LOC



LR

42.000 BOX

Issued by: KRISHENDUTHS

S I G N A T U R E

LIQUOR RUNNERS

START TIME: 07:50

Durban

FINISH TIME: 09:00

GOODS RECEIPT / ISSUE

No 54715

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

DRIVER NAME MASONDO NDOMISO

HIRE TRANSPORTATION CO. (If delivered by Hire Vehicle)		<u>Liquor Runners</u>	
LOAD SHEET No:		VEHICLE REG No:	<u>JBK 019 FS</u>
CUSTOMER	<u>L.R. CHW / KVV</u>	DATE RECEIVED	<u>28-02-25</u>

UPLIFTNOTE

DESCRIPTION	RECEIVED		Cases Received Damaged	Units Received Damaged	REMARKS INV. NO.
	Cases	Units			
1) ANNABELLE CUVÉE	22 ✓				L2428
2) BLANCHE 6x750ml 12x					
3) ALC					
4) KVV THREE 3 12x750	200 ✓		2pt1p1p		L24330
5) ml					
6)					
7) WILD AFRICA CREAM	55 ✓		1p		L25028
8) 12x750ml					
9)					
10) Bug BLUE ALCOHOLIC	126 ✓		2		L25044
11) SHOOTER 15x20ml					
12)					
13) ANNABELLE CUVÉE ROSE	140-10 ✓		1p	21/10/25	L24295
14) PETILLANT 4x6x200ml					
15)					
16) ROODEBERSI RED 6x750	112 ✓		1p		L243252
17)					
18) ANNABELLE CUVÉE	116 ✓		1p		L24276
19) ROSE 6x750ml					
20)					
PALET CONTROL: GKN		BLUE 24#1			
OTHER					
TOTAL					

NOTE: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: <u>INNOCENT</u>	DRIVER: <u>[Signature]</u>
TIME COMPLETED: <u>09:00</u>	PAGE: <u>1</u> PAGE: <u>8</u>

LIQUOR RUNNERS

01:50

Durban

GOODS RECEIPT / ISSUE

Nº 54716

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

DRIVER NAME _____

HIRE TRANSPORTATION CO. (If delivered by Hire Vehicle)

LOAD SHEET No:

VEHICLE REG No:

CUSTOMER

DATE RECEIVED

UPLIFTNOTE

DESCRIPTION	RECEIVED		Cases Received Damaged	Units Received Damaged	REMARKS INV. NO.
	Cases	Units			
1) BRANDY COLA KWV	90✓		1p		10/10/25
2) 4x6x440ML CANS					
3)					
4) PADDY 12(750+ GIFT.	56✓		1p		L4241
5) (CARTON)					
6)					
7) KWV BRANDY & COLA	78✓		1p		L24315
8) 24 x 375 ml					
9)					
10) FRUIT LAGOON COCKTAIL	48✓				L25034
11) BASE (STRAWBERRY DAIQUI					
12) 6x750ml VHO- ALC					
13)					
14) KWV CLASSIC CABERNET	8✓				L24281
15) SAUVIGNON / SHIRAZ 8x2L					
16) BIG					
17)					
18) HOULT HOWER BLUEBER-	42✓				L24261
19) BY 6x750ml					
20)					
PALET CONTROL: GKN BLUE #1					
OTHER					
TOTAL					

NOTE: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: _____

DRIVER: _____

TIME COMPLETED: _____

PAGE: 2

PAGE: 8

LIQUOR RUNNERS

Durban

GOODS RECEIPT / ISSUE

No 54717

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

DRIVER NAME _____

HIRE TRANSPORTATION CO. (If delivered by Hire Vehicle)			
LOAD SHEET No:		VEHICLE REG No:	
CUSTOMER		DATE RECEIVED	

UPLIFTNOTE

DESCRIPTION	RECEIVED		Cases Received Damaged	Units Received Damaged	REMARKS INV. NO.
	Cases	Units			
1) HOECH HOWLER BLACK-	42✓				L24269
2) CURRANT 6x750ml					
3)					
4) BONNE ESPERANCE DRY	20✓				L25036
5) RED 4x5L					
6)					
7) PEARLY BAY SMOOTH	15✓				L24281
8) RED 4x3L					
9)					
10) PEARLY BAY DRY	15✓				L24351
11) WHITE 4x3L					
12)					
13) FRUIT LAGOON COCKTAIL	24✓				L2422
14) BASE (MOJITO) 6x750ml					
15) NON-ALCH					
16)					
17) FRUIT LAGOON COCKTAIL	24✓				L2422
18) BASE (PINA COLADA) NON-					
19) ALCH 6x750ml					
20)					
PALET CONTROL: GKN BLUE #1					
OTHER					
TOTAL					

NOTE: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: _____	DRIVER: _____
TIME COMPLETED: _____	PAGE: <u>3</u> PAGE: <u>9</u>

LIQUOR RUNNERS

Durban

GOODS RECEIPT / ISSUE

Nº 54718

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

DRIVER NAME _____

HIRE TRANSPORTATION CO. (If delivered by Hire Vehicle)		VEHICLE REG No:	
LOAD SHEET No:			
CUSTOMER		DATE RECEIVED	

UPLIFTNOTE

DESCRIPTION	RECEIVED		Cases Received Damaged	Units Received Damaged	REMARKS INV. NO.
	Cases	Units			
1) CARVO CARAMEL VODKA	5 ✓				L24336
2) 6x750ML					
3)					
4) FRUIT LAGOON COCKTAIL	10 ✓				L2433
5) BASE (MANGO DAIQUI)					
6) NON-ALCH 6x750ML					
7)					
8) JACKSON BROWN LIQ	21 ✓				L25034
9) 6x750ML					
10)					
11) HOCHI HOWLER BOOST	42 ✓				L24301
12) GUARANA / RASPBERRY 6x					
13) 750ML					
14)					
15) CATHEDRAL CELLAR	8-4 ✓				L2333
16) CHARDONNAY / WHITE					
17) wine 6x750ML					
18)					
19) CATHEDRAL CELLAR	2 ✓				L2234
20) SHIRAZ 6x750ML					
PALET CONTROL: GKN BLUE #1.					
OTHER					
TOTAL					

NOTE: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: _____	DRIVER: _____
TIME COMPLETED: _____	PAGE: <u>4</u> PAGE: <u>8</u>

LIQUOR RUNNERS

Durban

GOODS RECEIPT / ISSUE

No 54719

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

DRIVER NAME _____

HIRE TRANSPORTATION CO. (If delivered by Hire Vehicle)

VEHICLE REG No: _____

LOAD SHEET No: _____

DATE RECEIVED _____

CUSTOMER _____

UPLIFTNOTE

DESCRIPTION	RECEIVED		Cases Received Damaged	Units Received Damaged	REMARKS INV. NO.
	Cases	Units			
1) CHEHN BLANC WHITE	56 ✓				L24287
2) WINE 6x750ml (KWV)					
3)					
4) LABORIE MERLOT CAB	28 ✓				
5) SAUVIGNON 6x750ml RED					
6) WINE					
7)					
8) LABORIE SAUVIGNON BLANC	28 ✓				L24296
9) WHITE WINE 6x750ml					
10)					
11) KWV SHIRAZ RED WINE	28 ✓				
12) 6x750ml					
13)					
14) KWV S. YR BRANDY	56 ✓				L24329
15) 12x200ml					
16)					
17) KWV WILD AFRICA CAPPE	28 ✓				L24346
18) LATTE 12x750ml					
19)					
20)					
PALET CONTROL: GKN BLUE #1					
OTHER					
TOTAL					

NOTE: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: _____

DRIVER: _____

PAGE: _____

PAGE: 8

TIME COMPLETED: _____

LIQUOR RUNNERS

Durban

GOODS RECEIPT / ISSUE

No 54720

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

DRIVER NAME _____

HIRE TRANSPORTATION CO. (If delivered by Hire Vehicle)

VEHICLE REG No: _____

LOAD SHEET No: _____

DATE RECEIVED _____

CUSTOMER _____

UPLIFTNOTE

DESCRIPTION	RECEIVED		Cases Received Damaged	Units Received Damaged	REMARKS INV. NO.
	Cases	Units			
1) FOUR MONKEY BUBBLE-	21 ✓				L24022
2) GUM 6x750ml + 6 SHOT					
3) GLASS					
4)					
5) DEMI-SEC SPARKLING	22 ✓				L24318
6) WINE 6x750ml (KVV)					
7)					
8) JACKSON BROWN SPIKE	21 ✓				L25034
9) Drum LIQ 6x750ml					
10)					
11) CATHEDRAL CELLAR	1 ✓				L23319
12) SAUVIGNON BLANCO 6x					
13) 750ml					
14)					
15) CATHEDRAL CELLAR	4 ✓				L2422
16) CABERNET SAUVIGNON 6x					
17) 750ml					
18)					
19) LABORIE SHIRAZ RED	10 ✓				L2434
20) wine 6x750ml					
PALET CONTROL: GKN BLUE #1					
OTHER					
TOTAL					

NOTE: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: _____ DRIVER: _____

TIME COMPLETED: _____ PAGE: 6 PAGE: 8

LIQUOR RUNNERS

Durban

GOODS RECEIPT / ISSUE

Nº 54721

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

DRIVER NAME _____

HIRE TRANSPORTATION CO. (If delivered by Hire Vehicle)			
LOAD SHEET No:		VEHICLE REG No:	
CUSTOMER		DATE RECEIVED	

UPLIFTNOTE

DESCRIPTION	RECEIVED		Cases Received Damaged	Units Received Damaged	REMARKS INV. NO.
	Cases	Units			
1) LABORIE CABERNET	3 [✓]				L2429
2) SAUVIGNON 6x750ML					
3)					
4) LABORIE ROSE 6x750ML	10 [✓]				L2431
5)					
6) KWV ROSE WINE 6x750	5 [✓]				L2424
7)					
8) KWV ROSE 6x1.5 BIB	14 [✓]				L2430
9)					
10) CIAO PINA COLADA 6x	28 [✓]				L25022
11) 2L					
12)					
13) ANNABELLE CUVÉE	110 [✓]				L240255
14) BLANCHEC 6x750ML					
15)					
16) LATHEDRAL CELLAR	2 [✓]				L23327
17) PINOCHAGE					
18)					
19) KWV MERLOT RED wine	84 [✓]				L25023
20) 6x750ML					
PALET CONTROL: GKN BLUE #1					
OTHER					
TOTAL					

NOTE: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: _____	DRIVER: _____
TIME COMPLETED: _____	PAGE: <u>1</u> PAGE: <u>8</u>